9601 McAllister Fwy., Suite 1008 + San Antonio, Texas 78216 + 210-298-3800 + FAX 817-735-7491

www.freese.com

August 7, 2024

Mr. Michael Sharp, CFM
Project Manager
City of Seguin, Capital Projects and Engineering
msharp@seguintx.gov

Re: Lawson Street Reconstruction (AF-2024-36) Contract Award Letter

Dear Mr. Sharp:

On July 30, 2024, bids for the above-referenced project were opened and read aloud. The low bidder was E-Z Bel Construction, LLC with a base bid of \$1,845,292.20 and a bid alternate total of \$71,681.54 for a total bid of \$1,916,973.74. To the best of our knowledge and believe, the lowest and best qualified bid is that of E-Z Bel Construction, LLC and we recommend the award of the contract to said contractor.

Attached are the following documents:

- 1) One digital copy of the bid tabulation.
- 2) One digital copy of the summary of the low bidders prices which exceed 5% of average.

Sincerely,

Bregger Garrison, PE Project Manager

Freese and Nichols, Inc.

Texas Registered Engineering Firm F-2144

cc: Project File



Freese & Nichols, Inc. 9601 McAllister Fwy, Suite 1008 San Antonio, TX 78216 BID TABULATION

Client: City of Seguin Project: Lawson Street Reconstruction Bid Date: 07/30/2024 3:00 P.M. CST Bid Tabulation Summary			D&S Concrete	Contractors, LLC	J3 Company, LLC		D&D Contractors, Inc		E-Z Bel Construction, LLC		
ITEM #	Description	Quantity	Unit	Unit Cost	Total Cost	Unit Cost	Total Cost	Unit Cost	Total Cost	Unit Cost	Total Cost
	SUBTOTAL BASE BID						\$1,947,608.00		\$2,196,496.81		\$1,845,292.20
	SUBTOTAL BID ALTERNATE 1				\$106,392.00		\$107,718.00		\$106,938.18		\$71,681.54
TOTAL PROJECT BID				\$106,392.00		\$2,055,326.00		\$2,303,434.99		\$1,916,973.74	

Note: Base bid for D&S Concrete Contractors, LLC was unable to be verified due to missing unit cost items.



Freese & Nichols, Inc. 9601 McAllister Fwy, Suite 1008 San Antonio, TX 78216 BID TABULATION

Client: City of Seguin Project: Lawson Street Reconstruction		D&S Concrete Co	ontractors, LLC	J3 Company, LLC		D&D Contractors, Inc		E-Z Bel Construction, LLC			
Bid Date: 07/30/2024	4 3:00 P.M. CST										
Bid Tabulation Sum											
ITEM #	Description Description		Unit	Unit Cost	Total Cost	Unit Cost	Total Cost	Unit Cost	Total Cost	Unit Cost	Total Cost
	PREPARING ROW	12		\$3,200.00	\$38,400.00	\$2,500.00	\$30,000.00	\$1,585.81	\$19,029.72	\$4,200.00	\$50,400.00
	REMOVING CONC (RIPRAP)	280		\$40.00	\$11,200.00	\$15.00	\$4,200.00	\$15.92	\$4,457.60	\$12.50	\$3,500.00
	REMOVING CONC (FLUME)	60		\$40.00	\$2,400.00	\$30.00	\$1,800.00	\$16.51	\$990.60	\$13.50	\$810.00
	REMOVING STAB BASE AND ASPH	2,551		\$5.00	\$12,755.00	\$8.00	\$20,408.00	\$13.02	\$33,214.02	\$4.50	\$11,479.50
	EXCAVATION (ROADWAY) EXCAVATION (CHANNEL)	3,637 867		\$30.00 \$30.00	\$109,110.00 \$26,010.00	\$30.00 \$30.00	\$109,110.00 \$26,010.00	\$29.68 \$19.84	\$107,946.16 \$17,201.28	\$20.00 \$23.50	\$72,740.00 \$20,374.50
	EMBANKMENT (FINAL) (DENS CONT)	272		\$40.00	\$10,880.00	\$20.00	\$5,440.00	\$19.67	\$5,350.24	\$3.50	\$952.00
	FURNISHING AND PLACING TOPSOIL	3,712		\$2.00	\$7,424.00	\$2.00	\$7,424.00	\$9.86	\$36,600.32	\$3.50	\$12,992.00
	BLOCK SODDING	3,712		\$10.00	\$37,120.00	\$7.00	\$25,984.00	\$11.71	\$43,467.52	\$6.50	\$24,128.00
	BONDED FBR MTRX SEE (TEMP)	3,712		\$4.00	\$14,848.00	\$2.00	\$7,424.00	\$0.85	\$3,155.20	\$1.80	\$6,681.60
	BONDED FBR MTRX SEE (TEMP) (COOL)	3,712		\$4.00	\$14,848.00	\$2.00	\$7,424.00	\$0.87	\$3,229.44	\$1.80	\$6,681.60
	VEGETATIVE WATERING		M.G	\$50.00	\$4,200.00	\$55.00	\$4,620.00	\$47.12	\$3,958.08	\$70.00	\$5,880.00
	LIME (QUICKLIME (DRY)		TON	\$300.00	\$25,500.00	\$320.00	\$27,200.00	\$341.17	\$28,999.45	\$1.00	\$85.00
	LIME TRT (SUBGRADE) (8")	5,775		\$15.00	\$86,625.00	\$10.00	\$57,750.00	\$4.88	\$28,182.00	\$11.50	\$66,412.50
	CONC PVMT (CONT REINF-CRCP) (9")	5,119		\$110.00	\$563,090.00	\$120.00	\$614,280.00	\$139.05	\$711,796.95	\$120.00	\$614,280.00
	RIPRAP (CONC) (5 IN)	76		\$1,000.00	\$76,000.00	\$600.00	\$45,600.00	\$704.33	\$53,529.08	\$1,050.00	\$79,800.00
462 6001	CONC BOX CULV (3FT X 2FT)	225		\$600.00	\$135,000.00	\$340.00	\$76,500.00	\$428.88	\$96,498.00	\$425.00	\$95,625.00
465 6006	JCTBOX (COMPL)(PJB) (4FTX4FT)	1		\$7,500.00	\$7,500.00	\$8,500.00	\$8,500.00	\$6,754.68	\$6,754.68	\$11,800.00	\$11,800.00
_	INLET (COMP) (TY SIDEWALK BRIDGE)	2	EA	\$8,100.00	\$16,200.00	\$9,000.00	\$18,000.00	\$11,447.54	\$22,895.08	\$3,100.00	\$6,200.00
467 6105	SET (TY 1) (S=3FT) (HW=3FT) (3:1) (P)	1	EA	\$4,500.00	\$4,500.00	\$6,500.00	\$6,500.00	\$7,712.93	\$7,712.93	\$2,400.00	\$2,400.00
	SET (TY 1) (S=3FT) (HW=3FT) (6:1) (P)	5	EA	\$5,500.00	\$27,500.00	\$6,500.00	\$32,500.00	\$8,200.31	\$41,001.55	\$2,400.00	\$12,000.00
	REMOVE STR (SET)		EA	\$500.00	\$2,000.00	\$750.00	\$3,000.00	\$430.59	\$1,722.36	\$1.00	\$4.00
	REMOVE STR (PIPE)	38	LF	\$5.00	\$190.00	\$40.00	\$1,520.00	\$34.92	\$1,326.96	\$1.00	\$38.00
	MOBILIZATION	1	LS	\$200,000.00	\$200,000.00	\$150,000.00	\$150,000.00	\$182,862.06	\$182,862.06	\$60,000.00	\$60,000.00
	BARRICADES, SIGNS AND TRAFFIC		LS	\$25,000.00	\$25,000.00	\$62,000.00	\$62,000.00	\$10,929.68	\$10,929.68	\$5,000.00	\$5,000.00
	ROCK FILTER DAMS (INSTALL) (TY 2)	22		\$50.00	\$1,100.00	\$52.00	\$1,144.00	\$57.04	\$1,254.88	\$51.00	\$1,122.00
	ROCK FILTER DAMS (REMOVE)	22		\$10.00	\$220.00	\$122.00	\$2,684.00	\$38.82	\$854.04	\$11.00	\$242.00
	CONSTRUCTION EXITS (INSTALL) (TY 1)	112		\$50.00	\$5,600.00	\$21.00	\$2,352.00	\$17.09	\$1,914.08	\$20.55	\$2,301.60
	CONSTRUCTION EXITS (REMOVE)	112		\$5.00	\$560.00	\$7.00	\$784.00	\$4.98	\$557.76	\$5.90	\$660.80
	TEMP SEDMT CONT FENCE (INSTALL)	1,319	LF	\$5.00	\$6,595.00	\$4.00	\$5,276.00	\$3.19	\$4,207.61	\$3.75	\$4,946.25
506 6039	TEMP SEDMT CONT FENCE (REMOVE)	1,319	LF	\$1.00	\$1,319.00	\$1.00	\$1,319.00	\$1.23	\$1,622.37	\$0.50	\$659.50
	CONC CURB (TY II) (MONO)	2,098	LF	\$25.00	\$52,450.00	\$9.00	\$18,882.00	\$11.64	\$24,420.72	\$10.00	\$20,980.00
	CONC SIDEWALKS (4")	418			\$0.00	\$60.00	\$25,080.00	\$80.28	\$33,557.04	\$84.00	\$35,112.00
	CURB RAMPS (TY 1)		EA		\$0.00	\$1,900.00	\$1,900.00	\$1,950.92	\$1,950.92	\$2,400.00	\$2,400.00
	CURB RAMPS (TY 2)		EA		\$0.00	\$2,300.00	\$6,900.00	\$2,005.02	\$6,015.06	\$2,000.00	\$6,000.00
	ALUMINUM SIGNS (TY A)	19			\$0.00	\$15.00	\$285.00	\$18.28	\$347.32	\$45.00	\$855.00
	IN SM RD SN SUP&AM TYS80(1) SA(P)		EA		\$0.00	\$1,335.00	\$2,670.00	\$1,626.66	\$3,253.32	\$950.00	\$1,900.00
	WK ZN PAV MRK REMOV (W) 6" (SLD)	1,015			\$0.00	\$3.00	\$3,045.00	\$3.11	\$3,156.65	\$1.00	\$1,015.00
	REFL PAV MARK TY I (W) 24" (SLD) (100	54			\$0.00	\$10.00	\$540.00	\$11.70	\$631.80	\$10.00	\$540.00
	RE PM W/RET REQ TY I (W) 6" (SLD) (100	1,406			\$0.00	\$4.00	\$5,624.00	\$4.26	\$5,989.56	\$2.25	\$3,163.50
	RE PM W/RET REQ TY I (Y) 6" (SLD) (100	786			\$0.00	\$4.00	\$3,144.00	\$4.26	\$3,348.36	\$2.25	\$1,768.50
	ELIM EXT PAV MRK & MRKS (4")	1,015			\$0.00	\$3.00	\$3,045.00	\$3.11	\$3,156.65	\$1.00	\$1,015.00
	PORTLAND CEMENT CONC DRIVEWAY (RESIDENTIAL)	86			\$0.00	\$95.00	\$8,170.00	\$111.33	\$9,574.38	\$95.00	\$8,170.00
	PORTLAND CEMENT CONC DRIVEWAY (COMMERCIAL)	250			\$0.00	\$100.00	\$25,000.00	\$118.79	\$29,697.50	\$95.00	\$23,750.00
	SIDEWALK PIPE RAILING	56			\$0.00	\$190.00	\$10,640.00	\$182.77	\$10,235.12	\$50.00	\$2,800.00
	12" WATER PIPE, C900 DR18	85			\$0.00	\$155.00	\$13,175.00	\$134.69	\$11,448.65	\$165.00	\$14,025.00
	6" WATER PIPE, C900 DR18	157			\$0.00	\$65.00	\$10,205.00	\$76.96	\$12,082.72	\$90.00	\$14,130.00
828	12" GATE VALVE	1	EA		\$0.00	\$5,500.00	\$5,500.00	\$4,978.10	\$4,978.10	\$10,800.00	\$10,800.00



Freese & Nichols, Inc. 9601 McAllister Fwy, Suite 1008 San Antonio, TX 78216 BID TABULATION

Client: City of Seguin Project: Lawson Street Reconstruction				D&S Concrete Co	ontractors, LLC	J3 Company, LLC		D&D Contractors, Inc		E-Z Bel Construction, LLC	
Bid Date: 07/30/2024 3:00 P.M. CST							(1				
Bid Tabulation Summary											
ITEM#	Description	Quantity	Unit	Unit Cost	Total Cost	Unit Cost	Total Cost	Unit Cost	Total Cost	Unit Cost	Total Cost
831	12"X16" TEE	1	. EA		\$0.00	\$5,500.00	\$5,500.00	\$2,268.47	\$2,268.47	\$9,500.00	\$9,500.00
832	16" X 12" TAPPING SLEEVE	1	. EA		\$0.00	\$12,500.00	\$12,500.00	\$8,012.11	\$8,012.11	\$11,000.00	\$11,000.00
832	16" X 6" TAPPING SLEEVE	1	. EA		\$0.00	\$10,000.00	\$10,000.00	\$4,954.42	\$4,954.42	\$8,300.00	\$8,300.00
834	FIRE HYDRANT ASSEMBLY	3	EA		\$0.00	\$8,000.00	\$24,000.00	\$7,808.48	\$23,425.44	\$15,000.00	\$45,000.00
841	HYDROSTATIC TESTING	3	EA		\$0.00	\$3,000.00	\$9,000.00	\$3,024.70	\$9,074.10	\$2,000.00	\$6,000.00
550	TRENCH EXCAVATION PROTECTION	1,165	LF	\$4.00	\$4,660.00	\$3.00	\$3,495.00	\$15.17	\$17,673.05	\$1.00	\$1,165.00
848	18" SEWER PIPE, PVC D3034 SDR26	1,165	LF	\$130.00	\$151,450.00	\$140.00	\$163,100.00	\$136.17	\$158,638.05	\$145.00	\$168,925.00
852	5' PRECAST MANHOLES (DEPTH	96	VF	\$900.00	\$86,580.00	\$1,300.00	\$125,060.00	\$1,215.01	\$116,883.96	\$2,000.00	\$192,400.00
854	LONG SEWER CONNECTIONS (6" PVC,	1	. EA	\$7,500.00	\$7,500.00	\$4,000.00	\$4,000.00	\$5,163.65	\$5,163.65	\$10,000.00	\$10,000.00
854	DEAD-END CLEANOUT	1	. EA	\$6,000.00	\$6,000.00	\$3,000.00	\$3,000.00	\$3,273.74	\$3,273.74	\$1,200.00	\$1,200.00
858	SANITARY SEWER ENCASEMENT	122		\$100.00	\$12,200.00	\$120.00	\$14,640.00	\$178.21	\$21,741.62	\$40.00	\$4,880.00
862	ABANDONMENT OF EXISTING 12"	928		\$5.00	\$4,640.00	\$12.00	\$11,136.00	\$16.50	\$15,312.00	\$10.00	\$9,280.00
862	ABANDONMENT OF EXISTING		EA	\$1,500.00	\$3,000.00	\$2,000.00	\$4,000.00	\$3,028.45	\$6,056.90	\$2,000.00	\$4,000.00
862	EXISTING MANHOLE REMOVAL		EA	\$500.00	\$1,500.00	\$1,500.00	\$4,500.00	\$3,564.46	\$10,693.38	\$2,000.00	\$6,000.00
862	EXISTING 12" SEWER MAIN REMOVAL LF	192	LF	\$10.00	\$1,920.00	\$20.00	\$3,840.00	\$85.61	\$16,437.12	\$10.00	\$1,920.00
864-S2	SMALL DIAMETER-BYPASS PUMPING SYSTEM		. EA	\$22,000.00	\$22,000.00	\$33,000.00	\$33,000.00	\$104,788.52	\$104,788.52	\$30,000.00	\$30,000.00
866	SEWER MAIN PRE-TELEVISING	928	LF	\$7.00	\$6,496.00	\$3.00	\$2,784.00	\$22.42	\$20,805.76	\$3.95	\$3,665.60
866	SEWER MAIN POST-TELEVISING	1,165	LF	\$7.00	\$8,155.00	\$3.00	\$3,495.00	\$3.63	\$4,228.95	\$2.95	\$3,436.75
	TOTAL AMOUNT - BASE BID	•					\$1,947,608.00		\$2,196,496.81		\$1,845,292.20
ITEM#	Description	Quantity	Unit	Unit Cost	Total Cost	Unit Cost	Total Cost	Unit Cost	Total Cost	Unit Cost	Total Cost
162 6002	BLOCK SODDING	-702	SY	\$10.00	(\$7,020.00)	\$7.00	(\$4,914.00)	\$9.16	(\$6,430.32)	\$6.38	(\$4,478.76)
164 6055	BONDED FBR MTRX SEE (TEMP)	-702	SY	\$4.00	(\$2,808.00)	\$2.00	(\$1,404.00)	\$0.97	(\$680.94)	\$1.80	(\$1,263.60)
164 6056	BONDED FBR MTRX SEE (TEMP) (COOL)	-702	SY	\$4.00	(\$2,808.00)	\$2.00	(\$1,404.00)	\$0.97	(\$680.94)	\$1.80	(\$1,263.60)
168 6001	VEGETATIVE WATERING	-16	MG	\$50.00	(\$800.00)	\$55.00	(\$880.00)	\$91.37	(\$1,461.92)	\$70.00	(\$1,120.00)
260 6004	ILME (QUICKLIME (DRY)	85	TON	\$300.00	\$25,500.00	\$320.00	\$27,200.00	\$341.17	\$28,999.45	\$1.00	\$85.00
260 6073	LIME TRT (SUBGRADE) (8")	741	SY	\$15.00	\$11,115.00	\$10.00	\$7,410.00	\$4.88	\$3,616.08	\$11.50	\$8,521.50
360 6003	CONC PVMT (CONT REINF-CRCP) (9")	667	SY	\$110.00	\$73,370.00	\$120.00	\$80,040.00	\$138.76	\$92,552.92	\$115.00	\$76,705.00
432 6002	RIPRAP (CONC) (5 IN)	-4	CY	\$1,000.00	(\$4,000.00)	\$600.00	(\$2,400.00)	\$4,136.67	(\$16,546.68)	\$1,050.00	(\$4,200.00)
500 6001	MOBILIZATION	1	LS	\$5,000.00	\$5,000.00	\$1,500.00	\$1,500.00	\$6,092.35	\$6,092.35	\$1.00	\$1.00
502 6001	BARRICADES, SIGNS AND TRAFFIC	1	LS	\$10,000.00	\$10,000.00	\$1,500.00	\$1,500.00	\$1,821.62	\$1,821.62	\$1.00	\$1.00
529 6005	CONC CURB (TY II) (MONO)	-15	LF	\$25.00	(\$375.00)	\$9.00	(\$135.00)	\$9.55	(\$143.25)	\$10.00	(\$150.00)
531 6001	CONC SIDEWALKS (4")	-9	SY	\$98.00	(\$882.00)	\$55.00	(\$495.00)	\$61.11	(\$549.99)	\$84.00	(\$756.00)
531 6004	CURB RAMPS (TY 1)	-1	EA	\$1,200.00	(\$1,200.00)	\$1,800.00	(\$1,800.00)	\$1,601.12	(\$1,601.12)	\$2,400.00	(\$2,400.00)
531 6005	CURB RAMPS (TY 2)	1	EA	\$1,300.00	\$1,300.00	\$3,500.00	\$3,500.00	\$1,950.92	\$1,950.92	\$2,000.00	\$2,000.00
	CoSA BID ALTERNATE 1						\$107,718.00		\$106,938.18		\$71,681.54



Client: City of Segu	in									
Project: Lawson Str	eet Reconstruction	FNI	EZ-Bel	% Diffe	erence					
Bid Date: 07/30/2024	Date: 07/30/2024 3:00 P.M. CST						,,,_,,,			
Bid Tabulation Sum										
ITEM #	Description			Verified Quantity	Unit Price	Unit Price	Percent Exceeded	Percent Lower		
100 6002	PREPARING ROW		STA		\$5,333.33	\$4,200.00		26.98%		
104 6009	REMOVING CONC (RIPRAP)	280			\$17.00	\$12.50		36.00%		
104 6044	REMOVING CONC (FLUME)	60	SY		\$88.64	\$13.50		556.59%		
105 6008	REMOVING STAB BASE AND ASPH	2,551			\$26.71	\$4.50		493.56%		
110 6001	EXCAVATION (ROADWAY)	3,637			\$16.67	\$20.00	19.98%			
110 6002	EXCAVATION (CHANNEL)	867			\$15.00	\$23.50	56.67%			
132 6008	EMBANKMENT (FINAL) (DENS CONT)	272			\$50.00	\$3.50		1328.57%		
160 6003	FURNISHING AND PLACING TOPSOIL	3,712			\$1.50	\$3.50	133.33%			
162 6002	BLOCK SODDING	3,712			\$10.00	\$6.50		53.85%		
164 6055	BONDED FBR MTRX SEE (TEMP)	3,712	SY		\$0.57	\$1.80	215.79%			
164 6056	BONDED FBR MTRX SEE (TEMP) (COOL)	3,712			\$0.54	\$1.80	233.33%			
168 6001	VEGETATIVE WATERING		M.G		\$145.67	\$70.00		108.10%		
260 6004	LIME (QUICKLIME (DRY)		TON		\$385.00	\$1.00		38400.00%		
260 6073	LIME TRT (SUBGRADE) (8")	5,775			\$20.00	\$11.50		73.91%		
360 6003	CONC PVMT (CONT REINF-CRCP) (9")	5,119			\$56.00	\$120.00	114.29%			
432 6002	RIPRAP (CONC) (5 IN)	76			\$400.00	\$1,050.00	162.50%			
462 6001	CONC BOX CULV (3FT X 2FT)	225			\$485.20	\$425.00		14.16%		
465 6006	JCTBOX (COMPL)(PJB) (4FTX4FT)		EA		\$7,000.00	\$11,800.00	68.57%			
465 6233	INLET (COMP) (TY SIDEWALK BRIDGE)		EA		\$10,170.00	\$3,100.00		228.06%		
467 6105	SET (TY 1) (S=3FT) (HW=3FT) (3:1) (P)	1	EA		\$2,700.00	\$2,400.00		12.50%		
467 6110	SET (TY 1) (S=3FT) (HW=3FT) (6:1) (P)		EA		\$5,359.94	\$2,400.00		123.33%		
496 6004	REMOVE STR (SET)		EA		\$868.11	\$1.00		86711.00%		
496 6007	REMOVE STR (PIPE)	38			\$36.67	\$1.00		3567.00%		
500 6001	MOBILIZATION		LS		\$195,508.00	\$60,000.00		225.85%		
502 6001	BARRICADES, SIGNS AND TRAFFIC		LS		\$35,547.00	\$5,000.00		610.94%		
506 6002	ROCK FILTER DAMS (INSTALL) (TY 2)	22			\$43.50	\$51.00	17.24%			
506 6011	ROCK FILTER DAMS (REMOVE)	22			\$12.15	\$11.00		10.45%		
506 6020	CONSTRUCTION EXITS (INSTALL) (TY 1)	112			\$9.54	\$20.55	115.41%			
506 6024	CONSTRUCTION EXITS (REMOVE)	112			\$6.87	\$5.90		16.44%		
506 6038	TEMP SEDMT CONT FENCE (INSTALL)	1,319			\$4.13	\$3.75		10.13%		
506 6039	TEMP SEDMT CONT FENCE (REMOVE)	1,319			\$1.31	\$0.50		162.00%		
529 6005	CONC CURB (TY II) (MONO)	2,098			\$30.11	\$10.00		201.10%		
531 6001	CONC SIDEWALKS (4")	418			\$89.50	\$84.00		6.55%		
531 6004	CURB RAMPS (TY 1)		EA		\$2,532.50	\$2,400.00		5.52%		
531 6005	CURB RAMPS (TY 2)		EA		\$2,916.00	\$2,000.00		45.80%		
636 6001	ALUMINUM SIGNS (TY A)	19			\$45.00	\$45.00				
644 6027	IN SM RD SN SUP&AM TYS80(1) SA(P)		EA		\$1,099.77	\$950.00		15.77%		
662 6067	WK ZN PAV MRK REMOV (W) 6" (SLD)	1,015			\$1.08	\$1.00		8.00%		
666 6048	REFL PAV MARK TY I (W) 24" (SLD) (100	54			\$9.50	\$10.00	5.26%			
666 6309	RE PM W/RET REQ TY I (W) 6" (SLD) (100	1,406			\$1.26	\$2.25	78.57%			
666 6319	RE PM W/RET REQ TY I (Y) 6" (SLD) (100	786			\$1.60	\$2.25	40.63%			
677 6001	ELIM EXT PAV MRK & MRKS (4")	1,015			\$0.80	\$1.00	25.00%			
COSA 503.1	PORTLAND CEMENT CONC DRIVEWAY (RESIDENTIAL)	86			\$92.73	\$95.00	2.45%			
COSA 503.2	PORTLAND CEMENT CONC DRIVEWAY (COMMERCIAL)	250			\$95.19	\$95.00		0.20%		
COSA 522.1	SIDEWALK PIPE RAILING	56			\$117.67	\$50.00		135.34%		
818	12" WATER PIPE, C900 DR18	85			\$200.00	\$165.00		21.21%		
818	6" WATER PIPE, C900 DR18	157			\$100.00	\$90.00		11.11%		
828	12" GATE VALVE		EA		\$8,000.00	\$10,800.00	35.00%			
831	12"X16" TEE		EA		\$3,000.00	\$9,500.00	216.67%			
832	16" X 12" TAPPING SLEEVE		EA		\$20,000.00	\$11,000.00		81.82%		
832	16" X 6" TAPPING SLEEVE		EA		\$12,000.00	\$8,300.00		44.58%		
834	FIRE HYDRANT ASSEMBLY		EA		\$7,500.00	\$15,000.00	100.00%			
841	HYDROSTATIC TESTING	3	EA		\$3,000.00	\$2,000.00		50.00%		
550	TRENCH EXCAVATION PROTECTION	1,165			\$5.00	\$1.00		400.00%		
848	18" SEWER PIPE, PVC D3034 SDR26	1,165			\$350.00	\$145.00		141.38%		
852	5' PRECAST MANHOLES (DEPTH	96			\$500.00	\$2,000.00	300.00%			
854	LONG SEWER CONNECTIONS (6" PVC,		EA		\$12,750.00	\$10,000.00		27.50%		
854	DEAD-END CLEANOUT		EA		\$3,000.00	\$1,200.00		150.00%		
858	SANITARY SEWER ENCASEMENT	122	LF		\$25.00	\$40.00	60.00%			
862	ABANDONMENT OF EXISTING 12"	928			\$45.00	\$10.00		350.00%		
862	ABANDONMENT OF EXISTING		EA		\$2,300.00	\$2,000.00		15.00%		
862	EXISTING MANHOLE REMOVAL	3	EA		\$2,500.00	\$2,000.00		25.00%		
862	EXISTING 12" SEWER MAIN REMOVAL LF	192	LF		\$35.00	\$10.00		250.00%		
864-S2	SMALL DIAMETER-BYPASS PUMPING SYSTEM	1	EA		\$25,000.00	\$30,000.00	20.00%			
866	SEWER MAIN PRE-TELEVISING	928	LF		\$5.00	\$3.95		26.58%		
866	SEWER MAIN POST-TELEVISING	1,165			\$5.00	\$2.95		69.49%		